

## KANSAS CORPORATION COMMISSION OIL & GAS CONSERVATION DIVISION

1061964

Form ACO-1 June 2009 Form Must Be Typed Form must be Signed All blanks must be Filled

## WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

OPERATOR: License # 33245	API No. 15 - 15-073-01112-00-01
Name: Cross Bar Energy, LLC	Spot Description:
Address 1: 100 S MAIN	NE_SW_NW_NW_Sec. 24 Twp. 23 S. R. 10 VEst West
Address 2: STE 400	4615 Feet from North / South Line of Section
City: WICHITA State: KS Zip: 67202 + 3737	4631 Feet from ✓ East / ☐ West Line of Section
Contact Person: ALBERT BRENSING  Phone: ( 316 ) 239-6151	Footages Calculated from Nearest Outside Section Corner:  ☐ NE ☐ NW ☑ SE ☐ SW
CONTRACTOR: License # 34059	County: Greenwood
Name: Hurricane Services, Inc.	Lease Name: BURKETT C Well #: W 1
Wellsite Geologist: ALBERT BRENSING	Field Name:
Purchaser:	Producing Formation: Bartlesville
Designate Type of Completion:	Elevation: Ground: 1258 Kelly Bushing: 1258
New Well ☐ Re-Entry ✓ Workover	Total Depth: 2130 Plug Back Total Depth: 2130
Oil	Amount of Surface Pipe Set and Cemented at: 124 Feet  Multiple Stage Cementing Collar Used? Yes No  If yes, show depth set: Feet  If Alternate II completion, cement circulated from: sx cmt.
Well Name: CW-1	Drilling Fluid Management Plan
Original Comp. Date:         6/8/1942         Original Total Depth:         2130           Deepening         Re-perf.         Conv. to ENHR         Conv. to SWD           Conv. to GSW         Plug Back:         Plug Back Total Depth           Commingled         Permit #:           Dual Completion         Permit #:           SWD         Permit #:           ENHR         Permit #:           GSW         Permit #:           8/19/2011         8/19/2011	(Data must be collected from the Reserve Pit)  Chloride content: ppm Fluid volume: bbls  Dewatering method used:  Location of fluid disposal if hauled offsite:  Operator Name: License #:  Quarter Sec Twp S. R
Spud Date or Date Reached TD Completion Date or Recompletion Date	

## **AFFIDAVIT**

I am the affiant and I hereby certify that all requirements of the statutes, rules and regulations promulgated to regulate the oil and gas industry have been fully complied with and the statements herein are complete and correct to the best of my knowledge.

Submitted Electronically

KCC Office Use ONLY
Letter of Confidentiality Received
Date:
Confidential Release Date:
Wireline Log Received
Geologist Report Received
UIC Distribution
ALT I I II Approved by: Deems Comisor Date: 09/09/2011

Side Two



1061964

Operator Name: Cross Bar Energy, LLC				Lease Name: BURKETT C Well #: W 1					<u>/ 1</u>
Sec. 24 Twp.23	s. r. <u>10</u>	✓ Eas	t 🗌 West			enwood			
INSTRUCTIONS: Shortime tool open and clos recovery, and flow rates line Logs surveyed. Att	ed, nowing and snu s if gas to surface te	it-in pres: est, along	sures, whether s with final chart(	shut-in pres	ssure rea	ched static level.	hydrostatic proce	tirae hottom	hala tampametura dui
Drill Stem Tests Taken (Attach Additional Sh	neets)		∕es ✓ No	<del>, .</del> .		og Formatio	n (Top), Depth an	d Datum	Sample
Samples Sent to Geological	gical Survey		res ✓ No		Nam Bartle	-		Тор	Datum
Cores Taken   Electric Log Run			res ☑ No res ☑ No res ☐ No		Darte	SVIIIG		2050	-792
List All E. Logs Run:									
				RECORD	□ Ne				
Purpose of String	Size Hole	Si	ze Casing	conductor, se Wei		ermediate, producti Setting	on, etc. Type of	# Sacks	Type and Percent
Surface	Drilled		t (In O.D.)	Lbs.		Depth	Cement	Used	Additives
	12	8.625		0	<u></u>	124	Portland	60	
Production	7.875	5.5		0		2050	Portland	100	
Liner	5.5	4.5		10.5		2025	60/40 Poz Mix	75	4% gel
Purpose:	Donth	· · · · · ·		CEMENTI	NG / SQL	EEZE RECORD			
Purpose: Depth Top Bottom Perforate Top Bottom Protect Casing Plug Back TD		Type of Cement		# Sacks Used		Type and Percent Additives			
—— Plug Off Zone	-								
Shots Per Foot	PERFORATION RECORD - Bridge Plugs Specify Footage of Each Interval Perform				Set/Type Acid, Fracture, Shot, Cement Squeeze Record (Amount and Kind of Material Used)				d Depth
				T in					
							<del></del>	<u></u>	
TUBING RECORD: 2.3	Size: 75	Set At: 2000	:	Packer At	:	Liner Run;	Yes No	<u> </u>	
Date of First, Resumed Pro 8/26/2011	oduction, SWD or ENH	IR.	Producing Metho	od: Pumping		Gas Lift 📝 Otl	her (Explain) injec	ction of SW	
Estimated Production Per 24 Hours	Oil B	bis.	Gas N	Acf	Wate	<del></del>	<u>-</u> -	as-Oil Ratio	Gravity
DISPOSITION	OF GAS:	Ţ	ME	ETHOD OF	COMPLET	TION:		PRODUCTIO	ON INTERVAL:
Vented Sold (If vented, Submit	Used on Lease ACO-18.)		pen Hole	Perf.	Dually (		ningled 4 ACO-4)		TO THE INVAL.



## REMIT TO

Consolidated Oil Well Services, LLC Dept. 970 P.O. Box 4346 Houston, TX 77210-4346

MAIN OFFICE P.O. Box 884 Chanute, KS 66720 620/431-9210 - 1-800/467-8676 FAX 620/431-0012

INVOICE

Invoice #

243543

Invoice Date: 08/19/2011 Terms:

Page

CROSS BAR ENERGY LLC 100 S. MAIN, SUITE 400 WICHITA KS 67202 (316)239-6151

BURKETT C #CW1

31459 08-18-11

KS

=====		=======================================	========		=======
Part	Number	Description	Qty	Unit Price	Total
1131		60/40 POZ MIX	75.00	11.9500	896.25
1118B		PREMIUM GEL / BENTONITE	260.00	.2000	52.00
1137		CDI-26	16.00	7.6200	121.92
1123		CITY WATER	3000.00	.0156	46.80
4404		4 1/2" RUBBER PLUG	1.00	45.0000	45.00
4156		FLOAT SHOE 4 1/2"	. 1.00	238.0000	238.00
	Description		Hours	Unit Price	Total
436	80 BBL VACUUM	· · · · · · · · · · · · · · · · · · ·	3.00	90.00	270.00
437	80 BBL VACUUM	TRUCK (CEMENT)	3.00	90.00	270.00
445	CEMENT PUMP		1.00	975.00	975.00
445	EQUIPMENT MILE	· · · · · · · · · · · · · · · · · · ·	20.00	4.00	80.00
611	MIN. BULK DELI	VERY	1.00	330.00	330.00

Parts: 1399.97 Freight: .00 Tax: 102.21 AR

Labor:

.00 Misc: .00 Supplies: .00 Total: .00 Change:

3427.18

Signed

Date

BARTLESVILLE, OK 918/338-0808

ELDORADO, KS 316/322-7022

EUREKA, Ks 620/583-7664

GILLETTE, WY 307/586-4914

OAKLEY, KS 785/672-2227

OTTAWA, Ka. 785/242-4044 THAYER, KS 620/839-5269

WORLAND, WY 307/347-4577





LOCATION EUREKA

FOREMAN KEVIN M°COY

PO Box 884, Chanute, KS 66720 620-431-9210 or 800-467-8676

FIELD TICKET	& TREATME	NT REPORT
--------------	-----------	-----------

020-451-5210	01 000-407-0070			CEMEN	<u> </u>			Kr
DATE	CUSTOMER#	1	NAME & NUM	BER	SECTION	TOWNSHIP	RANGE	COUNTY
8-18-11	2598	BURKett	C CWI					Gw
CUSTOMER				HUMCANE				40.0
MAILING ADDRE	BAR ENER	gy Zec		weck	TRUCK#	DRIVER	TRUCK#	DRIVER
				STRUICE	445	DAVE G.		
/00 5	MAIN ST		1	_	611	CHRIS B.		
CITY	i	STATE	ZIP CODE		436	Shaven F.		
WichH	ka	Ks	67202		437	Joey K.		7
	LINER > 10.5	HOLE SIZE		HOLE DEPTH	ļ	CASING SIZE &	WEIGHT 5/2	
CASING DEPTH	2025	DRILL PIPE		TUBING			OTHER BP @	2030
SLURRY WEIGH	п <i>./.3.</i> <sup>2 Ф</sup>	SLURRY VOL <u>a</u>	7/	WATER gal/s	k_ <i>7.</i> 5	CEMENT LEFT	n CASING O'	
DISPLACEMENT	32.7 BLL	DISPLACEMEN'	T PSI /350	METPSI 17	00 Bung Alug	RATE		
						Linea. Load	Casmo w/	32.7 RM
WATER. GO	od Fluid Ret	went to So	IRFACE. Pu	mo 10 Add	HOWAL BAC	. water. MIX	ed 75 sec	60/40
POZMIX CE	ment w/ 4%	Gel 1/4%	CDI-26	@ 13.24	041 = 21 8	K Slurry. SI	but down "	iosh nut
Puma & Cin	es. Release	Plus Disa	LACE Plus	A SEAT A	1 32.7 RV	Tresh water.	Final A	A
1350 BV. 7	Ruma Phia to	1700 Ast 7	Blan Para		Held Shut	CASING IN G	O ASI C	1 A
Between to	SURFACE =	8 BU Chie	e + Pul	1/4 (	Abda Pros	Lastry 12 Co	6 Mar. 1000	a cement
TICTURE TO	JUXPAC -	U CAL 370X	KY IN FIT.	U00 L0/	prese. Kig a	ouw.		
<del></del>		_				**		
540/	QUANITY (	or UNITS	PUMP CHARG	<del></del>	SERVICES or PR	RODUCT	975.00	975.00
5406			MILEAGE				4.00	80.00
			1:1 A				<del>-</del>	
1131	75 s			emix Come	w <del>t</del>		11.95	896.25
///8 15	-160 t		Gel 4%				.20	52.00
1137	16		CDI - 26	14% (FRIC	them Reducer	)	7.62	121.92
								<u> </u>
5407	7 دو. جي	Tons	TON Milea	ge Buck	Delv.		114/c	330.00
5502 C	31	4rs	80 BLL VA	ac TRUCK			90.00	270.00
//23	3000	OAIS	City water	•			15.60	46.80
5502 C	3 H				Lond w/ CRe	et water	90.00	270.00
					FR CIRCLAN		75,00	270.00
4404	1		41/2 100	Rubber Plug		1 1011 (011	UCAL	45.00
4156	,		4/2 5000	A JT 140	d on FlOAT.	Char	45.00 238.00	238.00
	•		; ,~ , , (4)	., or wer	- WA / TORT .	-110E	138.00	A 20.00
						· · · · · · · · · · · · · · · · · · ·	+	
							C.I T. I	22 2// 05
			1	HANK YOU		72./	Sub TatAC	3324.97
ivin 3737		J	<i>[ F</i>	M. YOU	A436	7.3%	SALES TAX ESTIMATED	102.21
	0 .			4-4-	$\Delta P$	CP	FO LIMATED	2427 15

I acknowledge that the payment terms, unless specifically amended in writing on the front of the form or in the customer's account records, at our office, and conditions of service on the back of this form are in effect for services identified on this form.

TITLE CROSS BAR Co. Rep.

DATE